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CALICE ECAL implemented as BSM detector
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Beam dump with magnetic field

* The Iron cylinder is supposed to be magnetized and serves as a source of

the uniform dipole field, with By = 1.5T, cannot be more, probably should
be less.

Its thickness is not well clear, it should be small, but sufficient to create the
field in the tungsten. So 100 mm here is just a guess.

1000

% V Can be a parameter,

depends on the
detector size

00

e

(

Volumes with
| magnetic field

N

7

400




Track hits x distribution in ECAL

Branches in Hits
tree in simulation
output:

cellx

celly

layer
vector<> track_id
vector<> [track x |
vector<> track_y
vector<> track_z
vector<> track_t

o
(b]
©
102

1078
107

107°

Hits x position, layer 3

Cumulative hit range cut 1 um
Cumulative hit range cut 5 um
Cumulative hit no segmentation

Step as hit




	Slide 1
	Slide 2
	Slide 3
	Slide 4

